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increase(v.) ils8l | #decrease 1. Nowadays, people depend ........... on TV; in fact, they are
J iy increasing/ ever more influenced by whatever they see there.
" | increasingly a. suddenly b. quietly c. increasingly d. hopefully
ools il
comprehend (v.) 59,5 s | comprehensible | 2. He was absolutely ........... , as he was speaking a
#incomprehensi | language with which | was everything but familiar.
ble a. proud b. skillful
c. monolingual d. incomprehensible
regular (adj.) ok | regularly(adv.) 3. It’s no surprise that Neil didn’t learn much in that course;
#irregular he actually didn’t attend classes as ......... as he should have.
regulate (v.) a. really b. necessarily
c. emotionally d. regularly
attend(v.) ol ,ea> | pay, draw, 4. The sound on the other side of the street ....... everybody’s
cailye attract/ have/ attention.
' call/ catch + a. collected b. gathered c.caught d.found
025 | attention
identify(v.) =Lsles | Identification(n.) | 5. The researchers hope to ........... ways to improve the
N | treatment for this disease.
a. follow b.destroy c.save d. identify
average(n.) I Jase | average(n.) 6. Alan ........... person in Iran consumes more than two
/| Sils kilograms of sugar each year.
B a. average b.actual c.accurate d.angry
[ Jousgie
wole
avoid(v.) olasl | = prevent/ 7. Most of these problems could have been easily .......
y | escape /keep off/ | a. practiced b.avoided c.claimed d. brought
“™ | keep away from
divide into(v.) s | division(n.) / 8. The teacher randomly ........ the students into three
oo divided (adj.) groups.
) .. . .
a. divided b. prevented c. predicted d. tried
endangered(adj.) oy, | €ndanger(v.) 9.Itisnot wise to .......... your life by smoking this heavily.
| T risk a. start b. decrease c. endanger  d. fight
harm(n.) e | NArM(V.) 10. The coach advised me that it wouldn’t do me any
wons | harmful (adj.) # | ......... if 1 got some more experience first.
harmless, useful | a. hurt b.harm  c.damage  d.risk
do/cause sb
harm(coll.)
protect(v.) from/ Ll | protection(n.) 11. There are some evidence that vitamin C gives great
against . protective(adj.) | .......... against common colds.
e | a. attention b. collection c. invention d. protection
2y
save(V.) 09,5 Las | = protect 12. Millions of people are engaged in campaigns to
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safe(adj.)

......... rain forests.

/ool safet;_/ (n) = a. manage b.makeup  c.save d. hate
| security
°x>> | safely(adv.)
O35
take care of(ph. co3l,. | = look after 13. He promised me to ............ all the necessary things
V.) oS while I am in Italy.
© a. putout b.keepon c.takecareof d.dieout
cut down(v.) SN2 = decrease, | 14. The doctor advised me to ............. on the amount of
cut down on (ph. () reduce, lower | sugar and fatty food.
Vv.) ’ a. cutdown b.pickup c.takeaway d.getup
ool nals
(3 o)
destroy(v.) = o,S <= | ruin, spoil 15.The ........... power of nuclear bombs is far more
5,5 ol | destruction(n.) imaginable than one can suppose.
| ..o | destructive(adj.) |a. destructive b.familiar c.original d. mental
Olge> oS
Sle
hope (v.) Js &l | NOPE(N.) 16. For someone who has lost everything in an accident the
s, | hopeful # best help is to help them get their ............. back.
‘W hopeless(adj.) a. society b. death  c. hope d. flight
hopefully(adv.)
injure (v.) el | INjury(ies)(n.) 17. It was the same old ........... that prevented Reza Yazdani
L. | injured(adj.) to take part in the final round of the Olympic competitions.
" a. duty  b.injury  c.lifespan  d.loss
practice(n.) Jas (a3 | Practice(v.) 18. Itwas ............... impossible for them to walk faster
in than that since some of them were physically disabled.
practice(phrase) |a. hopefully b.widely c. practically d. socially
put into
practice(exp) 19. It'scommon ............... in many countries for pupils to
practical(adj.) repeat a year if their grades are low.
practically(adv.) | & manner b. guide C. practice d. duty
proper (adj.) cwlie | FiIMproper 20. It is not considered ........... for older people to wear
property(n.) unusual clothes in public places.
properly(adv.) a. easy b.alive C. proper d. proud
exam(n.) ol | examination(n.) | 21. Each year, thousands of grade twelve students have to

have an
exam(exp.)
take an
exam(exp.) give
an exam(exp)

............ their finals exams.

a. give b.take  c. have d. make
22. All the students in grade three must ............. a final
examination that is essential to enter universities.
a. take b. give c.do d. pick
23. Many of the diseases can easily be controlled if a good doctor
............... the patient at the right time.

a. examines  b. estimates c. recites  d. emphasizes
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It will rain tomorrow. S G 95, .l
People will eat much less food in 23rd century. 90 W oansT (6l 55 yaila, o
Will you lend me your pen for a second? aliwgs ol 2
A: 1 am thirsty. B: Ok, I will bring you a glass of water. i [0 (6.5 el O

The will probably visit us. .ol alex> jo w5 9 Kb g Joi>! olo (think,. .. asle) Judl b lead 51 S 51
23l o ,be b 28 g basd ool 51 golows

probably, likely, possibly, maybe, perhaps, think, guess, suppose, .. |
I will invite him to my party if | see him. Jol g9 b yo .8
alo Wil Gl w uilg o wa DB QOING O Jol g9 oy 0 *
If I don’t find a job, I am going to buy a taxi.

13,18 8,9, »3 8,10 yo:bDegoingto L .Y
il KT § molg eatiles g odiungi b odigids g oaingS (sl a5 gaaled ulul p .l
Look at that tree! It is going to fall down.
A D05 9 SO b gl abad a5 il ol (g3, sl S 5l e o)l Gl o
I am reserving my hotel because | am going to be in Shiraz next week.

(80 oo plosl L 1) )5 (pl 5 45 (1650 ol 4 eedlgsn g el Sloae oS Cans | aSalEin 2
Child: I am hungry mum. Mum: You are going to finish your homework, first.
el i 230 DE QOING 10 ol Sl Jlossl 0l sl Jlgw oo 48 (6 i OMox joi> o la cad ;o @
> cos

24. The weatherman says it .............. quiet windy to the end of the week.
a. s going to be b. will be c. would be d.is
25. Look at that car which is crossing the red light. It .............. have an accident.
a. is going to have b. is having c. will have d. has
D¢ algss Lile; oyl w5l e gl o e Jg 098 oo solatul ool suis] Lo sl 5 (6)lpeinl S g osle Jb lej g0 @
26. According to some scientists, who work on global warming, the next century ................ the
century of “waterless earth”.
a. will be b. is going to be c. is being d.is
27. The climbers, who were lost yesterday, have sent a signal. It is likely that the rescue group
............... them soon.
a. finds b. is finding c. is going to find d. will find
28. I wonder ifthey ................. able to beat the Korean National Team.
a. were b. are going to be c. will be d. have been
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Man —-men  woman— women  child— children data— datum foot— feet person— people

bacterium— bacteria medium —media tooth — teeth Mouse — mice

D9 oo bl cowy 5 ke g sliwl jo LI agd 45 09 o diww o> PEISONS 5 pPeOPle & 50 90 4 Person o

jeans / trousers / pants / socks . scissors/ glasses, ... sl siis gox adued b oijle Sl JSKb adoon o gl 5l cam

dined alwdgd o 5l am a8 a5 police / cattle/ clothes/,...  asle (65,05 ke JS& b 05,05 ez eadle) diiand 0 yi0 ddad b g

e

1. Which of the following is not true?
a. radio —radioes b. person — persons  ¢. medium — media d. match— matches

teachel‘, Student, tree 9o oo assle S ° O)L:J| 03; uj.ﬁ .)‘)3‘ )| 6‘ Awd 5 S Sl so.w‘ r:LC M‘

LQ,Q}S Al Lng)ﬁ) cuol.‘> 6LQ)[SA ‘L“’)-ér“ ‘l.b)}ws 5LQ)L~M)‘ GAL.»l dsle S ) o)Lw‘ 05; AS) )l 5.»4.(‘- ASJ 5 S el Go.w‘ uol} w.u.;‘
Tehran, Iran, Ali, Everest ... :il.. g jols slo OLS ccalin gla po ol ooy,

dod Al Alils AolS S 5l o ols el I isd oo £9,0 S By b dden a5 Conl (pl o> lul Cliogas dlex
Loslas) Wgun g Solgils b g oL L Milad TOWEr sisle i 9,8 S5 By bl o] wlds

D 5 A Wy, o0, ple bl L UL a5 (determiner)ls vl sls Slis
i y2i B
aiile 09y (o0 )5 il (sl 0aissS g odigid (gl a5 ple sl sol> o oy a8 > u.:‘The

There is tree in our garden. The tree is very beautiful in spring.
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All countries that send objects into space find themselves face to face with serious problem: space junk. The

“junk” includes parts of sockets, unwanted remaining parts from launches, dead satellites, and other

manufactured items that simply stay there in space with no use at all. There may well be half a million pieces

of dangerous waste in orbit. As you might expect, countries around the world are worried. Many are working
on solutions to destroy the detritus.

Japan’s space agency has built an electromagnetic tether. This giant steel and aluminum net, nearly half a

mile wide, would orbit in space and attract metallic pieces as it travels. Once full of waste, the net would fall

back into the Earth’s atmosphere. The gathered pieces would burn re-entry. If this net idea works, Japan

plans to build a much larger one.
A Swiss company proposes a different answer. It is developing a spacecraft that would act as a huge device
to collect harmful debris. Like the Japanese net, the Swiss device would fall back into Earth’s atmosphere,

destroying its contents in the process.

29. What is the subject of the passage? (Skimming)

a. A new type of waste b. Useless solutions to a difficulty
c. Difficulty for future space missions d. Ways to send objects into space
30. What does the word “one” in paragraph 2 refer to?(scanning)
a. net b. idea C. piece d. re-entry
Lb - .- ’G‘*’Lf*
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